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1. Introduction

This contribution presents the simulation results for the coexistence between LTE-A and LTE-A both in the uplink and downlink. (Deployment scenario #1 in [1]).
2. Simulation Assumptions and Methodology

Two LTE-A system with contiguous 2x20 MHz CCs are located in adjacent band to each other. We investigated throughput degradation of one LTE-A system due to the interference from the other LTE-A system. The simulation methodology and assumptions approved in RAN4 #54 meeting [1] are applied in this study.
3. Simulation Results

3.1 Uplink simulation results

The performance metrics used in simulation results are average LTE-A UL throughput loss and 5% CDF LTE-A UL throughput loss with different sets of UL power control parameters (PC set 1/2). These results are presented in Table 1 and Figure 1, Table 2 and Figure 2.
Table 1 Average throughput loss of LTE-A uplink
	ACIR shift (dB)
	LTE-A to LTE-A
Average throughput loss (%)

	
	PC set 1
	PC set 2

	-10
	11.12
	7.91

	-5
	5.13
	3.63

	0
	2.32
	1.42

	5
	0.94
	0.51

	10
	0.35
	0.26
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Figure 1 Average throughput loss of LTE-A uplink
Table 2 5% CDF throughput loss of LTE-A uplink

	ACIR shift (dB)
	LTE-A to LTE-A
Average throughput loss (%)

	
	PC set 1
	PC set 2

	-10
	10.38
	7.28

	-5
	4.36
	3.63

	0
	1.73
	1.21

	5
	0.42
	0.23

	10
	0.18
	0.1
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Figure 2 5% CDF throughput loss of LTE-A uplink

The simulation results from PC set 1 and set 2, shows that at the ACIR offset of 0dB, both of the average and 5% CDF throughput loss of LTE-A uplink as victim are lower than 5%.
3.2 Downlink simulation results

The simulation results for average LTE DL throughput loss and 5% CDF LTE DL throughput loss are presented in Table 3, Figure 3, Table 4 and Figure 4, respectively.
Table 3 Average throughput loss of LTE-A downlink

	ACIR shift (dB)
	LTE-A to LTE-A
Average throughput loss (%)

	-10
	5.92

	-5
	2.69

	0
	1.03

	5
	0.54

	10
	0.14


Table 4 5% CDF throughput loss of LTE-A downlink

	ACIR shift (dB)
	LTE-A to LTE-A
5% CDF throughput loss (%)

	-10
	26.71

	-5
	11.32

	0
	4.28

	5
	1.76

	10
	0.72
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Figure 3 Average throughput loss of LTE-A downlink
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Figure 4 5% CDF throughput loss of LTE-A downlink

4. Conclusions

From the simulation results, we can conclude that:

The LTE-A UE ACLR model (ACLR1:30dB, ACLR2: 43dB, and ACLR3: 50dB) would not cause coexistence issues with LTE-A victim system located at the adjacent band, no matter which PC parameters set is used. 

The LTE-A UE ACS model (ACS:30dB) would not cause coexistence issues with LTE-A system located at the adjacent band.
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